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MINING RECORD

< WG =315 inches.
In this case K and Q are both in thousands of
ft per minute,
By the ordinary formula
WG = P x 33000,
quantityxs.2

WG = 15 x 33000,
28000 x 5.2
WG = 330, inches,

(Coeflicient =.000000013 1hs per sq. ft,
{WG = 3.15 inchns, or inches,

1ce of WG due to coeflicient now being
mongh out.

—In a mine worked by the pillar and
room system it is found difficult’to keep the far
off distriets clear of gas ; when the gulators of
the short districts arve nearly closed the faces of
the districts are no better.  What is the cause and
how would you remedy it. ¥

Ans. b.—The air waysare too smallto pass suf-
ficient air for the far off distriets, and t wrefore
the closing of the regulators on the short splits
has little or no effect.

I would enlarge the area of the airw HWys, or en-
deavour to lessen the triction by adding more
splits. The latter would really be enlarging the
aroa available for the current’to pass and would
considerably lessen the friction il splits could be
made 80 as to shorten the distance which part of
the quantity has to travel,

Increasing the area of the airways mignt be
an expensive undertaking, but not so expensive
as increasing the power, because the quantity only
increases in rmpm’liun to the cube root of the
power applied.

Ques,6.—An airway measuring 7" x 7" = 49 sq ft
is passing 30000 cubic ft of air per minute with a
pressure of a pound per sq ft. We enlarge the
area to ninety square ft. the form still remaining
square, what quantity will now pass the
remaining the same, will the velocity be in
or diminished in the larger section, ?

Ans. 6.V 90 = 9.486 ft square.

< perimeter of large airway = 9.480 x 4
= 37944 ft.

perimeter of small airway =7 x 4 = 28 fee,.
Relative quantity is found by the formula

R : J
A : area in sq. ft.
8 = rubbing surfuace in sq. ft.
R = relative quantity.
Length remains unaltered therefore I will sub-
utli:uu- perimeter for rubbing surface in the form-
ula,

Answers

5

Large airway,

y Al 90X x
" Jl"erim: B AT

= V19212.52

R+ |

= V420175
Then
As G4.8: 1380 ::3(00): X

= 1336

= 018

> 138.6 x 30000

B g

+* Increased quantity = 64000 cubie ft approx-
imately.

Velocity insmall airway - '“:::u-' G611 ft. per
min approximately.

y " . . 0 - .

Velocity in large airway = "‘(:)”- 11t per

min. approximately,
Velocity is increased about 100 ft per min-

ute in the larger arvea,

Ans.—New quantity = 64000 cuble ft per minute
(u]n\»rnxinmh-ly.)

‘elocity is inereased about 100 ft per minute
in the larger area.
Ques. 7.—In which workings of a mine is the

greatest pressure required for the removal of
firedamp.
Ans. 7.—In the rise workings. Five damp,

next to hybrogen is the lightest substance known,
and owing to it« exteeme lightness it floats near
the roof, making its way to the hightest points of
the mine.  Air is twice as heavy as firedamp and
it is a tact, which is well known, that air falls eas-
ily to the dip but has to be forced to the rise, ow-
ing to its weight. Thus we have two conflicting
conditions in rise workings, viz:—hea vy air un-
willing to go up, and I'ght gas unwilling to come
down, and it is easy to understand that consider-
able pressure will be 1equired in rise workings
to keep a sufflcient current of air sweepia lku
faces and diluting and rmeoving the firec amp,
The greater the degree of inclination the greater
will be the pressure required to keep the rise
working clear.

Ques.8.—What is the object of splitting air in
mines,

Ans, 8—The chief object is 10 supply each dis-
trict with a current of tresh air, instead of cours-
ing the vitiated air from one district into another
This incfeases the satety of the mine and lessens
the anxiety of the management, because:

(n) The ventilation of each district is to a cer-
tain extent independent of the other districts, and
should a fall block the airway in one, the oflers
will benefit rather than otlerwise,

(b) There will be fresh air on the main baulage
roads and travelling roads of cach distriet,

(¢) Wood doors on main haulage rouds are dis-
pensed with,and fewer doors are required through
out, although more air crossings are required,

(1) Gases given off in one district are not car-
ried iato any of the others ; therotore there is less
danger of explosion.

(e) h‘hnul(‘ an explosion occur mn one distriet,
its effects may not extend to the others,

(1) The composition of the air is more uniform
throughout the mive and, except in the first work-
ing piaces, tho temy erature ot the mine is some-
what reduced,

(g) Each scperate district is considered a Fep-
erate mine undor the Mines Aet, a 1act which care
ries several ndvantages with rogard to shot firing
and inspection,

The recond object, and one which is just asime
portant as the first is (0 obtain the gieatest pos-

Continued on puge 17,




